H#RUNZ / Components

No. 2 %5 / Part name #E / Pcs #ME / Material & - RELIE / Color-Finish
1 =~V HRIR 2 TILSHRH A A6063S-T5 YWN=TIWRAb, T F99TLRAR
Heat—sink side plate Extruded aluminium A6063S-T5 Silver anodized , Black anodized
2 AtV 2 2 TILSHRH A A6063S-T5 ATV =TLRAR , ATFAVT 99T MAR
Panel Extruded aluminium A6063S-T5 Hairline brushed Silver anodized , Hairline brushed Black anodized
3 KEHR 2 T ILEAR A1050P ATV =TLRAR , ATFAVT 99T MAR
Top cover , Bottom cover Aluminium A1050P Hairline brushed Silver anodized , Hairline brushed Black anodized
4 EE£ & / Corner support 4 $MERk SPCC / Steel SPCC Z{@HRs—F / Trivalent chromate
5 L2 / Rubber feet RIYr9LAR> / Polyurethane 7599 / Black
6 HAFE R (M3 x 6 H3) 16 EoS Zyb Ak SRS/
Screw (M3 - 6 Countersunk) Steel Nickel plated , Black trivalent chromate
7 HRAHE R (M3 x 5 EE{F54L1) 12 EoS ok lhavk SR04+
Screw (M3 — 5 Slotted raised countersunk) Steel Nickel plated , Black trivalent chromate
* TLRIFEBDBFRICRYMF T TEET,
* Adhesive rubber feet in cluded.
3 7

4
5
4/ Title
TAKACHI] BX&#4hFEHITE GEIE—RS P —R O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. HEAT-SINK ALUMINIUM ENCLOSURE
{4 (BUZEXREDO) / Color type (End of product numberd) #/Approved [ #&[/Checked BI[/Created | E4F/Product number RE/Seale
i05 / Code £ / Color HY133-33-231
Ss S JLIN— / Silver iR T (320 " s
BB 75v% / Black {ERL B /Date 2017/06/06




E—r ORI
Heat-sink side plate1 side

231

7.6

1325

733 L2481
Rear panel side

330

UU[][][](]UD[][](]UD‘T[][][]U[][][]UUU[][]U

UU[][][][][]U[][][][]DL[][][]U[][][]U[]U[][]U

~ A

AE VAL
Front panel side

B-B(1:5)

H3h~Ti% / Max dim. 286

E—r oo lIR24A
Heat—sink side plate2 side

8-M3 (I v—L BT H)
8-M3 (Hole for mounting plate)

A-A(1:5)
e} He P
N
~
£
b
3
= 8
-~ | N
H
i
R
T e LA
115 101.5

H3~T% / Max dim. 124.5
A#~ti% / Max dim. 1205

$~ti% / Max dim. 201

7
*

£l

11.5

g
=
S
1=
1=
S
S
S
S
1=
=1
1=
S
=3
=
=
1=
S
=
=1
S
S
S
1=
1=
=1
1=
[

20.6

N
o

m
00000

{f00°00000000

m|
00000000

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD

R4/ Title
HWRE—L O —X
HEAT-SINK ALUMINIUM ENCLOSURE

o]

738 /Approved

iR

&/ Checked

T

#[/Created

A

FIF /Product number

HY133-33-2301

RE/Scale
1:5

YERL B /Date 2017/06/06




125 98 180 98 125

1.7
<
[

37 156
%‘ 6
=
%

©
25 48
21 224.6 189.8
4-M3
©
o
N
= 10
& 3
o
N
[ee)
E—hr U511 / Heat—sink side platel
“TUUUAUUUULUUUUUUUUUUIG™
M3
AL,
|
|
EMUUJUUUUUUUUMWUUUUUUUUUW E—r> 2 V4842 / Heat-sink side plate2
W59 =hJLFT—2% / Technical Datall B /Title
B O =5
+ o T R
BMEHUIE / Thermal resistance : 1.14 °C / W TAKACHI) HARHINFERTIR E—r U ORIR @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD Heat-sink side plate
. . . 7R/ Approved 18X/ Checked X /Created FIF /Product number RIE/Scale
*BEREIX DA HEICEE. BE LF60°COROE H133 - D230 1:4
*Thermal resistance calculation is based on the fins being perpendicular to the ground with temperature at 60°C iR £ 5251
ffA/Date  2017/06/06 3/°5




2-M3FH SR

2-M3 Countersunk

1325

4-R2

2-M3FAY IR

2-M3 Countersunk

2-M3
330
H~Ti% / Max dim. 286
2-M3
534 197.4 53.4

BT % / Max dim. 1205

AT IAVHR

Hairline brushed direction

319.7
N
w0
o
N
N
/32 JL1 / Front panel
/3% JL2 / Rear panel
R4/ Title
TAKACH) #=t&#tsnF BHTH R o]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD Front panel B Rear panel
7R/ Approved #&[X/Checked #[X/Created 1% /Product number RE/Scale
W330 - H133 1
iR x (320 4 /5
{ER B /Date 2017/06/06




X#x / Top cover

A% / Max dim. 201

H#+Ti% / Max dim. 286

(000000000000,,0000000000000

(0000000000000°0000000000000

M / Front side

JE#X / Bottom cover

0000000000000.,0000000000000

0000000000000°0000000000000

Wt
=]
~N
-
T
S
3
+
2]
g
®

RS —

Surface protective film side

ANTFIAV A

Hairline brushed direction

fREES — A

Surface protective film side

AT IAVFHR
Hairline brushed direction

2245
25 48 938

329

296

00,,0000000000000

(000000000000°0000000000000

22 / Back side

197.4

298

(000000000000,0000000000000

0000000000000°0000000000000

221 / Back side

213

6-74.5

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

w4/ Title

KIER

Top cover , Bottom cover

o]

£8/Approved

iR

X/ Checked

T

X /Created

FIF /Product number

W330 - D231

RE/Scale
1:4

A

{ERL B /Date

2017/06/06




